Chapter 3. Solving Linear Equations

Ex. 3.5

Answer 1CU.
a) The original equation is E(g-}-S] =22

=2g+5=22 Distributive property

= 2g+5-5=22-5 Subtract 5 from each side
=%2g =17

=5 ETg = % Dividing with 2 on both sides
= g=85
CHECK

=2(g+5)=22 original equation
= 2(8.5+5)=22 Substitute 8.5 for g

=2(13.5)=22 Adding
= 27=22 Multiplying

Therefore the Solution is not correct.
The erroris 2(g+5)=2g+5
The original equation is 2(g +5) =22

=2g+10=22 Multiplying and distribute
= 2g+10-10=22-10 Substract 10 from each side

=2g=12
= ETg = = Dividing with 2 on both sides
=g=0

The Solution is §.



b) The original equation is 54 =24 -18

= 5(—6)=2(-6)-18 Substitute -6 for d
= -30=-12-18 Multiplying
= -30=-30 Adding

The solution is correct.

) Step 1:
The original equation is —§z+13=7=

= -6(13)+13=7(13) Substitute 13 for z
=-=78+13=91  Multiplying
= —65=9] Adding

The solution is not correct.

The error is adding —gz -

Step 2:
-6z 413 =7z Original equation

= =6z +13+6z="Tz+6z Adding 6z on both sides

=13=13z Adding
13 13z e . .
= THET) Dividing with 13 on both sides

=z=]

The solution is 1.

Answer 2CU.

The following steps are to be followed to check whether an equation is an identity.

Step 1: Consider the original equation.

Step 2: Use the distributive property.

Step 3: Verify the reflexive property of equality.

Step 4: If the expressions on each side of the equation are the same this equation is an
Identity.

Answer 3CU.



Consider the equation 2m+5=5(m-7)-3m

= 2m+5=5(m-7)-3m Original equation
=2m+5=5m-35-3m  Distributive property

= 2m+5=2m-35 Simplity
=2m+5-2m=2m-35-2m Subtract 2m from each side
= 5=-35 This statement is false.

Since 5= -35 is a false statement.

This equation has no solution.

Answer 4CU.
The original equation is 6n+7=81-13
=06n+T7-6n=8n-13-6mn a.Substract 6n on both sides.
=T=2n-13 b.Adding
=T+13=2n-13+13 c.Adding 13 on both sides.
=20=2n d.Adding
— ? = % e.Dividing with 2 on both sides.
=10=n f.Simplify
Answer 5CU.

The original equation is 20e4+5=5+65 .

= 20c+5-5¢=5¢+65-5¢ Substract 5¢ from each side.
=15¢c+5=65 Adding
=15+5-5=65-5 Substract 5 from each side.
= 15¢ =60 Simplify

=% % = % Divide with 15 on each side

CHECK

20c + 5 = 5¢ + 65 Original Equation

= 20(4)+5=5(4)+65 Substitute 4 for ¢
= 80+5 =20+ 65 Multiply
= 85=85 Adding

The solution is 4.



Answer 6CU.

1 1 3

The original equation is %_1; =—f——

3 1 | |
= ———l+—
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CHECK
3 1 l 3
8 4

2 4

! --——+—r—1 Adding i.’ on each side.

Simplify
w 3 .
Adding 2 on each side
Simplify
Multiply with 4 on each side.
Simplify
Dividing with 3 on each side.

Simplity

———f=—t -3 Original Equation

3 1[3] |[3
=he———| = | == =
g8 412) 212

3 3.3 3
8 B 4 4
=0=0

The solution is E .
2

Answer 7CU.

—i Substitute -32— fort

4

Multiply and distribute

The original equation 3(a—5)=-6

= 3a-15=-6

=3a-15+15=-6+15

=3a=9
30_9

3 3

=a=3

CHECK

Simplify

Distribute
Adding 15 on each side
Simplify

- Dividing with 3 on each side

3(a—5)=-6 Original Equation

=3(3-5)=-6 Substitute 3 for a
=3(-2)=-6 Adding
= -6=-6 Multiply

The solution is 3.



Answer SCU.

The original equation is 7-3r=r-4(2+r)

=T7-3r=r-8-4r Distribute

= T7-3r=-8-3r Simplify

= 7-3r+3r=-8-3r+3r Adding 3r on each side
=T7=-8 This statement is false

This equation has no solution.

Answer 9CU.

The original equationis 6=3+ S[a’— E:l

=6=3+54-10 Distributive property
= 6=5d-7 Adding
=6+T=54d-T+7 Adding 7 on each side
= 13=>5d Adding

:?%=E Dividing with 5 on each side
=d =§ Simplify

CHECK

6 =3+5(d —2) Criginal Equation

=6 =3+5(%—2] Substitute I—; for d
13 e
=6=3+5 r3 =10 Distributive Property
=6=3+13-10 Multiply
=6=16-10 Simplify
=6=06 Simplify
13

The solution is ? .



Answer 10CU.

The original equation is C—H=£
&8 4
= [ETH] = %-S Multiply with 8 on each side
=>c+l=2c Multiply
= c+|—c=2c—c Substract ¢ on both sides
=l=c Simplify
CHECK
o+

<= £ Original Equation

= ﬂ = l Substitute 1 for ¢
8 4
::-Ezl Adding
8 4
1 1
= —=—
4 4

Therefore the Solution is 1.

Answer 11CU.

The original equation is 5h—-7=5(h-2)+3

= 5h-T7=5h-10+3 Distributive property
=5h-T7=5h-7 Adding

= 5h=T7+7=5h-T7+17 Adding 7 on both sides
= 5h=>5h Reflexive property of equality

Since the expressions on each side of the equation are the same this equation is an identity.

The statement 5h-?=5[};—2}+3 is true for all values of h.



Answer 12CU.

The original equation is 5 4w+ 82=98w-2.38
= 54w+82=54w=98w-=2.8=5 4w Subtract 5.4w on each side

=82=44w-2.8 Adding
=82+28=44w-2.8+238 Adding 2.8 on each side
= 11.0=4.4w Simplify
=% i _San Dividing with 4.4 on each side

44 44
=25=w Simplify
CHECK

5.4w+8.2=9.8w-2.8 Original Equation

=54(2.5)+82=9.8(2.5)-2.8 Substitute 2.5 for w
= 13.5+82=245-28 Multiply
=21.7=21.7

Therefore the solution is 2.5.

Answer 13CU.
The equation is 75-9r =5(—4 +2¢)

= 75-9t=-20+10¢ Distributive property

= T75=9%+9==20+10¢+9¢ Adding 9t on each side
= T75==-20+1% Simplify

= 75+20=-20+19¢+20 Adding 20 on each side
=95=1% Simplify

= % = % Dividing with 19 on each side

=5=¢ Simplify

Therefore the solution is 0.



Answer 14PA.

The given equation is Gl P
5 10
3m 2 . : .
—=(10)= = (I 0)  Multiply with 10 on each side
(3m—2}2= 7 Simplify
= b6m-4=7 Distributive Property
= 6m—4+4=T+4 Adding 4 on each side
= 6m=11 Adding
6_m 4 Divide with 6 on each side
6 6
5 T
= m= IE Simplify

Answer 15PA.

The given equation is y4+9=Ty+9

= v+9-v=Tv+9-v Subtract von each side
=9=6v+9 Simplify
=9-9=6v+9-9 Subtract 9 on each side
= 0=06v Simplify

= % = % Divide with 6 on each side
=0=v Simplify

Answer 16PA.
The given equation is 3-4g=10g+10

=3-4g+4g=10g+10+4q Adding 4q on each sides
=3=14g+10 Adding
= 3-10=14g+10-10 Subtract 10 on each side
= -T=14q Adding

-7 _l4g T .

Dividing with 14 on each side.

14 14
:}%:g Simplify
CHECK

3-44 =10qg +10 Original Equation

=>3—4[‘—']=m[‘—']+m Substitate — for q.
2 Z 2
=3+2==-5+10 Multiply

=5=5

Therefore the solution is __I .
2



Answer 17PA.
The given equation is 3t -5=Tk-21

= 6k-5+21=Tk-21+21 Adding 21 on each side
=3k+16="Tk Adding

= 3k+16-3k=Tk-3k Subtract 3k on each side
=16=4k Adding

? = % Dividing with 4 on each side

— 4=k Simplify
CHECK

3k -5 =7k -21 Criginal Equation
=3(4)-5=7(4)-21 substitute 4 for k
=12-5=28-2] Multiply

=7=7

Therefore the solution is 4.

Answer 18PA.

The given equation is 5t—9=—3r+7

= 5t-9+9==3r+7+9 Adding 9 on each side

= 5t=-3r+16 Adding
=5t+3t==-3t+16+3t Adding 3t on each side
= 8r=16 Adding

—] % =§ Dividing with & on each side
=>r=2 Simplify

CHECK

5t —9 = -3¢+ 7 Original Equation

=5(2)-9=-3(2)+7 substitute 2 for t
= 10-9=-6+7 Multiply
=, 1 =1

Therefore the solution is 2.



Answer 19PA.

The given equationis 85+9=75s+6

=85 +9-9=T5+6-9 Subtract 9 on each side
=8s=Ts5-3 Adding
=8s—-Ts=Ts-3-Ts Subtract 7s on each side
=8=-3 Simplify

CHECK

85 +9 = 75 + 6 Original Equation

=8(-3)+9=7(-3)+6 substitute -3 for s
= -244+9=-21+6 Multiply
= -15=-15

Therefore the solution is -3.

Answer 20PA.
1

The given equation is %n+|ﬁ= z—gn

1 1 1 . I .
:}EH+|5+—H=2——H+—H Adding —n on each side
4 8 8 8 8

:‘s%H+Iﬁ=2 Adding
:}%u+l6—16=2—1& Subtract 16 on each side

7 ,
:}En =-14 Adding

7 L : .

- [E.H).g = _14[3] Multiplying with 8 on each side
= Tn=-112 Multiply

% = # Divide with 7 on each side
=n=-4-16
CHECK
3

“n+lé= 2_%,? Original Equation

:}%{—16]+I6=2—%{—16} Substitute -16 for n

:?Hﬁ:at Multiply
= -12+16=4 Simplify
=4=4

Therefare the solution is -16.



Answer 21PA.
2 3 1

. 1
The given equationis ——Zp=———
a 3 4 3°
1 2 1 3 1 l ) | .
=S ——— VYt —YP=———y+— Adding — vy on each side
3 37737303 837Y
1 1 3 .
e p— Addin
4 373 &
::-—l+l—lr1=-=i—l Subtract l on each side
3 4 4 4 4 4
-1 2 .
= Y= Addin
3’” 4 o
= [_?In] -3 =§ 3 Multiplying with 3 on each side
6 .
= -y= ) Multiply
3 . .
::r—y=5 Simplify
= it
¥ 2
CHECK
1 2 31 . _
——— = ———1 Qriginal Equation
4 30T e
= l_;[—_.i] = E—l(—E] Substitute P fory
4 3\ 2 4 3\ 2 2
= l+ 6 = E+E Multiply
4 6 4 6
1 3 1 . .
—+l==4— Simpli
4 4 2 plify
1+4 342 . .
e K M Simph
4 2 plify
5 5
= —=—
4 4

Therefore the solution is —= .



Answer 22PA.
The given equation is 8=4(3c+5)

=8=12c+20 Distrtibutive property

=8-20=12¢+20-20 Subtract 20 on each side

=-12=12¢ Adding

=5 . = L3¢ Dividing with 12 on each side
12 12

=c=-1 Simplify

CHECK

8 =4(3c+5) Original equation

= 8=4(3(-1)+5) Substitute -1 for ¢
5

=8=4(-3+5) Multiply
=8=4(2) Adding and Multiply
=8=8

Therefore the solution is -1.

Answer 23PA.
The given equation is 7(m-3)=7

=Tm=-21=17 Distrtibutive property

= Tm=21+21=7+21 Adding 21 on each side
= Tm=28 Adding

::»%:% Dividing with 7 on each side
= m=4 Simplify

CHECK

7(m-3)=7 Original equation

=7(4-3)=7 Substitute 4 for m
=7(1)=7 Simplify
=T7=17

Therefore the solution is 4.



Answer 24PA.
The given equation is 6(r+2)-4=-10

= 6r+12-4=-10 Distributive property
=6r+8=-10 Adding

= 6r+8-8=-10-8 Subtract 8 on each side
= 6r=-18 Simplify

=% % = %lg Dividing with 6 on each side
=r=-3 Simplify

CHECK

6(r+2)—4=-10 Original Equation

=6(-3+2)-4=-10  Substitute -3 for r

=6(-1)-4=-10 Adding
= —-6-4=-10 Multiply
=-10=-10

Therefore the solution is -3.
Answer 25PA.

The given equation is 5 —%[.r —ﬁ] =4

=5 —% +g =4 Distributive property
=5+3 —% =4 Divide and Adding
=8-2=4

2

=8 —% —8=4-8 Subtract 8 on each side

:‘,s—%:—dl Adding

=% [;]2 =(-4)-2 Multiply with 2 on each side

= -x=-8 Multiply
=x=8 Simplify
CHECK

5 —%{x —6) =4 Original Equation

=5-—(8-6)=4  Substitute § for x.

:5—%{2} -4 Simplify
=5-1=4 Multiply
=4=4

Therefore the solution is 8.



Answer 26PA.

The given equation is 4(2a-1)=-10(a-5)

= 8a—-4=-10a+50 Distributive property

= 8a-4+10a=-10a+50+10a Adding 10a on each side

= 18a—-4=50 Adding

= 18a—-4+4=50+4 Adding 4 on each side

= 18a =54 Simplify

= Yoq = il Divide with 18 on each side
I8 18

—a=3 Simplify

CHECK

4(2a-1)=-10(a-5) Original Equation
=4(2(3)-1)=-10 Substitute 3 for a
=4(6-1)=-10(-2)  Adding
=4(5)=20 Simplify
=20=20

Therefore the solution is 3.

Answer 27PA.

The given equation is 4[f-1}=4f'

—=4f-8=4f Distributive property
=4/ -8+8=4f+8 Adding 8 on each side
=4f=4f+8 Simplify
—d4f-4f=4f+8-4f  Subtract 4f on each side
=0=3 This statement is false

This equation has no solution.

Answer 28PA.
The given equation is 3(1+d)-5=3d-2

=3+3d-5=3d-2 Distributive property
=3d-2=3d-2 Retlexive property of equation

The equation is an identity.

The statement 3([ +d}—5= 3 =2 is true for all values of d.



Answer 29PA.
The given equationis 2(w-3)+5=3(w-1)

= 2w=6+5=3w-3 Distributive property

= 2w-1=3w-3 Adding
=2w-1+3=3w-3+3 Adding 3 on each side

= 2w+ 2=3w Simplify

= 2w+ 2=-2w=3w=-2w Subtract 2w on each side
=2=w

CHECK

2(w-3)+5=23(w-1) Original Equation

=2(2-3)+5=3(2-1) Substitute 2 forw
=2(-1)+5=3(1) Adding

= -245=3 Multiply

=3=3

Therefore the solution is 2.

Answer 30PA.

The given equation is %y_}: =4 +%y

:}}:[%—I]=4+%y Simplify

] ] -
=y —|=44+— Substitutin
il [2} EJ*’ g
=»2=4+2
2 2
= L 4 + ¥ .z Subtract 4 on each side
2 2 2 2 2
=0=4 This statement is false

Therefore the eqguation has no solution.



Answer 31PA.
The given equation is 3+§§= 1 1+Eb

:3+Eb=]]—gb
5 5

:;3+Eb+£b=ll—£b+zb Adding EFJ on each side
5 35 . 5

::-3+§!:-=]I Simplify

4 .
:;-rgb+3—3=]]—3 Subtract 3 on each side

4 .
::-Tj-bzﬁ Adding

4 . . .

= [Eb] -5=8(5) Multiply with 5 on each side
= 4h =4 Simplify
= % .. Divide with 4 on each side
=b=10
CHECK

3 +%b =1 1+%b Original Equation

:.>3+%[ID}= | I—E[ID} Substitute 10 for b

=3+2(2)=11-2(2) Simplify
=3+4=11-4 Multiply
=1=17

Therefore the solution is 10



Answer 32PA.
The original equation is ﬁ{:7+3g)=%

= —t—pg=— Distributive propert

P dg g property
:>l+§-g+£=:§~+§- Adding £ on each side

4 4 8 8 8

7 Tg "
= —4—=={) Simplhif;

2 3 plity

Tg 7 7 7 7
=&, __0-= Subtract — on each side

8 4 4 4 4

Te =T
=& = Adding

8 4

Tg -7 . ) .
= ?[8} = T(E] Multiply with 8 on each side
=7g=-7(2)
—=Tg=-14 Multiply

Tg -14 n : .
= T Divide with 7 on each side
= g=-2 Simplify
CHECK

£{7+3g)= % Original Equation

= :II(?+ 3(-2))= __(:é‘_?_}_ Substitute -2 for g
=2 (TG Simplif;

4 8 P
:;i{l]:% Simplify

I 1
= —=—

4 4

The solution is -2.

Answer 33PA.
The given equation is 28—-22x=11.6x+262.6



Answer 35PA.
The given equationis 1.03p-4=-2.15p+8.72
= 1.03p-4+2.15p==-2.15p+8.72+2.15p Adding 2.15p on each side

=3.18p-4=8.72 Adding
=3 18p-4+4=8.72+4 Adding 4 on each side
=3.18p=12.72 Simplify
Sl B Divide with 3.18 on each side
3.18 318
= p=4 Simplify
CHECK

1.03p—-4=-2.15p+8.72 Original Equation

=1.03(4)-4=-2.15(4)+8.72  Substitute 4 for p
=4.12-4=-8.6+8.72 Multiply
=0.12=0.12

The solution is 4.

Answer 36PA.
The given equation is 18§—3.8/=7.36-1.9¢
= 18-3.8+3.8=736-1.9r+3.8t Adding 3.8 on each side

= 18=7.36+1.9¢ Simplify

= 18-736=7.36+1.91-7.36 Subtract 7.36 on each side
= 10.64 =1.9¢ Simplify

= % = % Divide with 1.9 on each side
=30={

CHECK

18-3.8t =7.36-1.9¢ Original Equation
= 18-3.8(5.6)=7.36-1.9(5.6) Substitute 5.6 for t

—18-21.28=7.36-10.64 Multiply
—-3.28=-3.28

The solution is 5.6



Answer 37PA.
The given equation is 13,7v—6.5=—2.3v+8.3
=13.Tv=6.5+23v==-23v+83+23v  Adding 2.3v on each side

= l6v—-6.5=8.3 Simplify
= 16v=-06.5+6.5=8.3+6.5 Adding 6.5 on each side
= 16v=14.8 Simplify
4. - . .
— L = Lo Dividing with 16 on each side
16 16
= v=0925
CHECK

13.7v=6.5 = =2.3v+ 8.3 Original equation
=13.7(0.925)-6.5=-2.3(0.925)+8.3  Substitute 0.925 for v

=12.6725-6.5=-2.127578.3
=6.1725=6.1725

The solution is 0.925

Answer 38PA.
The given equation is 2[.1; +3(.s-— ]]] =18

=25 +6(s—1)=18  Distributive property

= 25+6s-6=18 Distributive property
=8s—-6=18 Simplify

= 8s=06+6=18+6  Adding 6 on each side
=8y =24 Simplify

= %’ = 28_4 Divide with 8 on each side
=5=3
CHECK

2[3 +3{.&'—]:I:| =18 Criginal equation

=2[3+3(3-1)|=18 Substitute 3 fors
=2[3+3(2)]=18  Simplify

=2[3+6]=18 Multiply
= 2[9]=18 Simplify
=18=18

The solution is 3.



Answer 39PA.
The given equation is -3(2n-5)=0.5(-12n+30)

= —=6n+15=-6n+15  Distributive property
= —6n+15=-6n+15  Reflexive property of equality

The equation is an identity
The statement -3(2;: -5) = D.S{—iln +3ﬂ} is true for all values of r.

Let x be a number

The data given is %x+|6—lx =§x—4

2

I 1 2 I I .
= —x+16-—x=—x—-4——x Subtract —x on each side

2 2 3 2 2
= lﬁz-é-:c—fl Simplify
::-Iﬁ+4=éx—4+4 Adding 4 on each side
= 2{}:%,:: Simplify
=20(6)= [éx].ﬁ Multiply with 6 on each side
=120=x

The solution is 120.

Answer 41PA.
Let ¥ be 2 number.

The data given is lx+ﬁ - l;
2

:lx+ﬁ—lx=%x—%x Subtract %x on each side

2 3

::r%x+6= 0 Simplify

:}éx+ 6-6=0-6 Subtract 6 on each side
:b%x= =5 Simplify

— [éx}ﬁ =-6(6) Multiply with 6 on each side
= x=-36

The solution is -36.



Answer 42PA.

Let the two consecutive odd integers be 2x-1,2x+1

The data givenis 2(2x+1)-13=3(2x~1)

= 4x+2-13=6x-3 Distributive property
=4x-11=6x-3 Simplify
=4x-11-4x=06x-3—-4x Subtract 4x on each side
=-11=2x-3 Simplify

= =11+3=2x-3+3 Adding 3 on each side

= -—8=2x Simplify

:«,»‘;:2—; Dividing with 2 on each side

= -d4=x

The number is -4.

Answer 43PA.

Let the two consecutive odd integers be 2x,2x+2.2x+4

The data given is 3(2x+4)+38=2(2x)

= 6x+12+38=4x Distributive property

= bx+50=4x Simplity

= 6x+50-4x=4x—4x Subtract 4x on each side
=2x+50=0 Simplify

= 2x+50-50=0-50 Subtract 50 on each side
= 2x =-50 Simplify

=% ETx = _TSG Divide with 2 on each side

= x=-25 Simplify

The numbers are -50,-48 -46.



Answer 44PA.

Let ‘a’ be the age in years.
The maximum pulse rate given is U.S{Elﬂ—a]

Given maximum pulse of a person is 152.

= 0.8(220-a)=152

=176-0.8a=152 Distributive property and multiply
= 176-0.8a+0.8a=152+0.8a Adding 0.8a on each side
=176=152+0.8a Simplify
=176-152=152+0.8a-152 Subtract 152 on each side
=24 =0.8q
= ot O Dividing with 0.8 on each side

0.8 0.8a
=30=a

The age of a person is 30.

Answer 52PA.

The given equation is Sn+4="7(n+1)-2n

=5n+4=Tn+7-2n  Distributive property
=5n+4=5n+7 Reflexive property of equality

Since the expression on each side of the equation are the same this equation is an identity.

The statement Sp+4 = ',."(n+ I} — 2p is true for all values of n.

Answer 53MYS.

The given equation is %v—ﬁ =14

:%—6+6=14+6 Adding 6 on each side
2

::—I;-v=2(l Simplify

2 L . .
— [-E—'v}'} =209 Multiplying with 9 on each side
= 2v=180
= 22—" . % Dividing with 2 on each side
=v=90
CHECK

%v—ﬁ. =14 Original Equation

:»%[90)—6= 14 Substitute 90 for v
=2(10)-6=14 Simplify
=20-6=14 Multiply

—14=14

The solution is 90.



Answer 54MYS.

x—3=_2

The given equation is

— [%_3}(?] =-2(7) Multiplying with 7 on each side

=x—-3=-14 Multiply
=x-3+3=-14+43 Adding 3 on each side
= x=-1l
CHECK
-3 o .
2 = —2 Original Equation
-11-3 . ‘
= =—2 Substitute -11 for x
:_—f=—z Simplify
= 2=_2 Simplify

The solution is -11.

Answer 55MYS.
The given equation is §—9y =23

= 5-Ow=5=23-5 Subtract 5 on each side
= —-Ow=18

? =§ Dividing with 9 on each side
= —w=2 Simplify
= w=-2
CHECK

5 —9w =23 Original Equation

=5-9(-2)=23 Substitute -2 for w
—5418=23 Multiply
= 23=123

The solution is -2.



Answer 56MYS.

The data given is calories burnt by Ebony per minute is = 4.5
Let x represent the number of calories.
The number of calories burns for ‘m’ minutes is 4.5m

Therefore the number of calories burnt by Ebony for ‘m’ minutes is y=4.5m

Answer 57MYS.
Let 'x' be the time taken by Ebony to burn 150 calories.

Since number of calories burnt for ‘'m’ minutes is 4.5m

= 150=4.5m

405m 150

= Dividing with 4.5 on each side.
45 45

:.,"-.r:'1'=33l
3

The time taken to burn 130 calories by Ebony is 33l minutes.
3

Answer 60MYS.

~10+(=17)=—=(|-10[+|-17|) Both numbers are negative so the sum is negative
==(10+17)
=-27 Simplify

Answer 61MYS.
~12—(~8)=~(|-12|~|-8|) Both numbers are negative so the sum is negative
=-(12-8)
= -4 Simplify

Answer 62MYS.
6-14= (16| -14)
=(6-14)
=-8 Simplify



Answer 63MYS.

Let x,y be two numbers
From the data given x+ v is even.
Letx=3,y=5

Nowx+y=3+5

=x+y=28

= X+ y iseven

But x is not even.

Answer 65MYS.

Givendatais a=5,b=8,c=7,x=2and y=1

2
The expression is 3a
b+c¢
2 3(s5)
= 3a = [ ) Substitute 5,8,7 for a,b,c respectively
b+c 8+7
3a’ 3,[25}
= Multiply and Addin
bte 15 o 5
a8 75 _
—_— Multipl
b+e 15 PY
3a’
= —=35 Simplhif
b+¢ Py
Therefore the value of expression 3a” s 3.
b+c

Answer 66MYS.

The given expression is x(a +2b} -y

= x(a+2b)-y=2(5+2(8))-1 Substitute 2,5,8,1 for x,a,b,y respectively

= x(a+2b)-y=2(5+16)-1 Multiply
= x(a+2b)-y=2(21)-1 Adding

= x(a+2b)-y=42-1 Multiply
= x(a+2b)-y=41

The value of the expression is x(a+2b)-y is 41.



Answer 67MYS.

The given expression is 5(_r+ 2}*)—45

=5(2+2(1))-4(5) Substitute 2,1,5 for x, y,a respectively
=5(2+2)-20 Multiply

= 5(4)-20 Simplify

=» 20-20

=0 Simplify

The value of expression is 5{x+ 2_}*)—45



